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Problem: A 3Q, a mQ and a 9Q) resistor are Emooa in

N

series and connected to a 12 V battery?
(a) What 1s the 95,@3 flowing through each Bm_mﬁoﬁ
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SoEoB A3Q, a6, and a 9Q resistor are Emowm n
series and connected to a_12 V battery?

(b) What is the voltage drop across each resistor?
&NV

B2 k=3 I, uHr..l.NwM Z

A= LR, = (67AY3p)= 2V
QUps Ll = (474)60)= v

sz [ Ry =(er24)( 1) = 4
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Interactive Question @
Two resistors are connected in series with a battery as
shown. R, isless than R,. Which of the two resistors has
the greater current flowing through 1it?

R

A) R
B) ~, |
C) They have the same current
D) More information is needed



Interactive Question
Two resistors are connected in series with a battery as
shown. R, is less than R,. Which of the two resistors has
the greatest voltage difference across it?

R

A) R
B) <,
C) They have the same voltage difference
D) More information is needed




Problem: An ideal battery has a voltage of 9.0 volts
and is attached to a 20 Q external resistor. The battery
has an internal resistance of 1 €.

A) What current is flowing through the circuit?

B) What is the terminal voltage of the battery?

bv Nuh. N..?NF.V \nsﬂith,bbnlmthlk | < R\
HU | | Vol
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Which of the following circuits are identical?

(A)

A)(A) and
B) (B) and

C) (A) and

1

(B) on
(C) on

(C) on]

M
Y

Interactive Question

M

' D)(A), (B), and (C)
E) None of the above

(B)

AN

(C)

©



Problem: A3Q, a6 D and a 9 Q resistor are Emoma n
parallel and connected to a 12 V battery? _\ |
(a) What is the total current flowing through the m%mﬁ@Bo




Problem: A3 Q, a6 Q, and a 9 Q resistor are placed in
parallel and connected to a 12 V battery? _\
(b) What is the current in each resistor? 7




Interactive Question @

Consider the two circuits E s

on the right. Which of

the following statements % @M | W\w
is true?

A) R, and R, are in parallel. K; and R, are in series.
B) R, and R are in parallel. /3; and K, are in series.
C) R, and R, are in series. ; and £, are in series.

D) R, and R, are in parallel. /3, and R are in parallel.
E) R, and R, are in series. R, and fs are in parallel.




